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Which»o.ne’ of the following statements about the Faizpur Session of Congress is not true ?
1) It Wz%s the first Session of Congress held in the rural area.

@) It_ wés atteﬁd_ed by about _40,000 peasants.

3) Dhana]mana Choudharl and Sane Guruji played an important role in organizing
~ this'séssion. '

(4)' * Shankarrae Deo presided over this session..”

Mwmmww@mmmwmmlmw%wﬂa
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The mpst outstanding Rajput ruler in the post Aurangzeb period was Sawai Raja Jai Singh

of Amber. He built the beautiful city of Jaipur. He also erected astronomical observatories
at five plac:es At how many of the. followmg places he did not erect these ?

(a)j Banaras (b) U]]amw - (¢) Mathura~ (d) Udaipur (e) Allahabad

-A’nswe'r:‘ options ; . '

(1) 'O_ne’ ‘. (2) l;wo. ' (3) Three (4) Four
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The Great Mughals included Babar, Humayun, Akbar, Jahangir, Shahjahan and Aurangzeb
in that chronological order. The Mughal emperors who came to the throne after the death of

Aurangzeb are called the Later Mughals Arrange the followmg four Later Mughals in their
chronoiogical order. '

(a) Ahmad Shah (b) Bahadur Shah

(c) Jahandar Shah (d) Mohammad Shah
Answer options :

(1) Ahmad Shah, Bahadur Shah;, Jahandar Shah, Mohammad Shah
(2) Bahadur Shah, ]ahandar Shah, Mohammad Shah, Ahiad Shah -
(3) Bahadur Shah, Mohammad Shah, ]ahah‘d'ar“Shah, Ahmad Shah

(4) Jahandar Shah, Mohammad Shah, Bahadur Shah, Ahtnad Shah
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(3) (A) T 3, T (B) TF M.

(4)  (A)TF 3, WY (B) ¥ M.

Read statements (A) and (B) and choose appropriate option from the answer options :
(A) Megasthenes mentions seven castes into which the Indian society was divided.

(B) ~ Megasthenes confused castes with professions.

Answer options :

(1) Both (A) and (B) are true, and (B) is the correct explanation of (A).

(2) Both (A) and (B) are true, but (B) is not the correct explanation of (A).

, (3) (A) is true, but (B) is false. , ®

(4) (A) is false, but (B) is true.

5. WOSYS! S FiERE HERn T 9 qeeEe a6 ?

(1)  THIGT =Rt | (2) T ST W

(3) owfsE Wy (4w T

Who, among the following revolutionaries, was én atheist and a socialist in approach ?
(1) Damodar Chaphekar | 2) Vinayak Damodar Sava.rkar‘

(3) Arabindo Ghosh (4)  Bhagat Singh
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He was given the title of Nizam-ul-Mulk. He was made the Governor of the Deccan. He
founded the Asaf Jahi dynasty. His successors are called the Nizams of Hyderabad. Identify

him :
(1)  Chin Quilich Khan (2) Murshid Quli Khan
(3) Saadat Khan (4) Husain Ali Khan

mmwgﬁaﬁﬁaﬁﬁﬁﬁﬁaﬁaﬁmm?
(@) T g g A
(b) i B SRIUATT YT ITEF Bl
(c) TT= VIEThIGd TS84 gUy dreg gRug smaifed et .
(d) M fossd =T 7Y He fae &,

T I e
(1) (), (b) S (d) 7 (@), (@) s (d)
(3) (@) (b) 3 (c) (4)  (b), (c) 0 (d)

e =

Which of the following statements are true about Ajatashatru ?

(a) His name was alse Kunika.

—

b) He was the last ruler of the Haryanka dynasty.

(c)  The first Budhist council was held at Rajgruh during his regime.

(d) He ihtegrafed Lichhavi kihgdom into Magadh.

Answer options :

- D @ ®and(d (2) (@) (and(d @) (@) (b)and() “) () (c)and(d)
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| The Maratha power suffered from certain basic weaknesses which led to its'downfall. Which

| of the following was not one among them ?

(1) The natﬁre of their ipolitical system the Marathas alienated the sympathies of other

4 people.

(2)  Their raids into the territories of other rulers made new enemies.

(3)  Thelevies charged by them added to the oppression of the common people, particularly
peasants and traders.

(4) None of the above

®

9. FRYHSH TP 20 1 IMHMS WA TSI TFHH TRAT ST :

(1) SISifaricaisn TTHRUMGR (2) HSTHE TEAIGR

(3) RIS ArTigR 4y~ TETRTATETT Sk TR

The early nationalists provided the firm foundation to the 20th century freedom movement
through : '

(1) Politics of petitions (2) Constitutional means )( a

(3) Agitational wayX (4) Economic critique of colonialism
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(1) foahiie (i) TAES (itl) TG
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(3) (i) &M (i) Rt (4) forsl

‘Which of the following plays were written by Harshavardhan ?

(i)  Priyadarsika (i) Ratanavali (iiij Nagananda
Answer options :

(1) () only (2) (i) and (ii) only

(3) (i) and (iii) only (4)  All the three

11, Sie oL (I Ay w1y feen)

et . 1 RICUE T
O IEC @ R
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- Match the pairs. (Choose the correct answer option).
List-I ~ List-I1
(a) Adil shahi ‘ . (i) Bidar
(b) Nizam shahi ' (if) Golconda
(c) Imad shahi (iii)  Vijapur _
(d) Qutub Shahi ' (iv) Ahemadnagar
(e} Barid Shahi (v) .Berar '
Answer options :
@@ (b)) (@ (d (o)
(M) ) ) G Gv) (@)
@ @ @) @ @ (i
Q) ) @) ) @ @)
(4) (V) (@) @) () @
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The princely states that were unwilling to join the Indian Union until July 1947 included :
(a) Baroda (b) Travancore (c) Bikaner (d) Bhopal

(1) Alltheabove (2) (), (9) 3) ) @) (b) (d)

13.

ISHIAT TTHERUMS geIararel dig iy Tieiats! o el ?

(i) s (i) STcomseEH faesi ><
(i) e fort-gerd X (iv) TROSTE qoeses
gt I |

(1) () = (i) | (2) (i) 3T (i)

@) (i) 9 iv) &/@@W )

Who among the following strongly opposed the interference of the Ulemas in the affairs of
the state ?

() Balban (i) Alauddin Khilj

(i) Muhammad-bin-Tughlaq (iv) Firoze Shah Tughlaq
Answer options :

(1) () and (i) (2) (i) and (iii)

(3) (i) and (iv) (4) (iv) and (i)
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1) T3 Fgn (2) T IR 3R (3) AR 4) T g

Who has rejected the ‘Safety Valve Theéry’ about the foundation of the Congress calling it
the ‘myth’ ?

A. O. Hume (2) AR De_é ; (3) Tarachand (4) Bipan Chandra
P A P

(i) wFow (@) g () wEE (iv) @
TatEt S
(1) () @), (i), () (2)  (v), (@), (), (i)

(3) (i), (i), (), () \/m (i), (i), (iv)

Arrange the following British trading centres in their chronological order. Choose the
correct answer option. '

e

(i) Calcutta (i) Surat (iiiy Madras (iv) Bombay

Answer options :

() ) @) i), @) @ (i), ) (i), @

(3) () (i), (iv), (i) \ (4) (i), (i), @), (iv)
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% (a) e AT FEeE O (b) _feew = T T
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(1) (29 (b) (2) (B9 (o) 3) (@9 (d) My~ e W

Which of the following factors determine diurnal and seasonal variation in intensity and
amount of solar radiation ?

(a) Inclination of the axis of the earth.
(b) Length of the day.
)

Extent of clouds

—~

c
(d) Angle of inclination of the Sun’s rays

Answer options :

(1) (a) and (b) (2) (b)and (c) (3) (c) and (d) (4)  All the above

17. F=sE® ‘TAR' ¥ 9T TR i 7o o, 3 S d HIS ST o
[ERIIENI d WIS S 3R,
: e
1) 6d12 2) 83 20 V«s{ua 6 4) 439
Newly developed "Ennore’ port near Chennai is the th largest port in the céﬁntry
and th largest port on the eastern coast.
(1) 6and 12 (2) 8and 20 (3) 12and 6 4) 4and?9

mmﬁimmaﬁwmwwm?
1) et ) wEER (3) U @)

——

Teej a Hindu festival is dedicated to which Goddess ?

(1) Lakshmi (2) Saraswati (3) Parvati (4) Durga
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Sl ™
(a) st () wmEs
(b) R (i) 3T
(@ e (i) Frofrd e (afreg)
(@) wfen (iv) TS
T 3
(@ () () (d)
AT ) ) ), )
@ @) @ @ 0
@ ) O @ G
@ 0 @) @ 6@
Match the following pairs and choose the correct option from those given below :
Tribes States
() Angami () Zarkhand
(b) Kota (i) . Assam
(¢ Munda (i) Nilgiri mountain (Tamil Nadu)
(d) Chutiya (iv) Nagaland

Answer options :

@ () (© @
1) @) ) @ ()
(2) @) @@ @) @
@) @) @ @) (@)
4 @ @) @) ()
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' (1) 13 (2) 23 (3) 33 (4) 43
The Ganga Plains accomodate ____ percent of population of India.

(1) 13 (2) 23 (3 33 (4) 43

21.  TF 2009 Ao TTHAGUIIR G § FHH! A& el Teai Hiev w1

(a) STEUES ToW (b) WEWE

(c) W& TR d) wdETE

Wf?f-f I

1) © @, (@) ) @ @ © ), 0

3) (@), (©) ®), (@) @) © @ @) ©)

Arrange the following States in descending order of their forest area, according to forest
survey report 2009 :

(@) Arunachal Pradesh (b) Maharashtra
(c) Madhya Pradesh (d) Chattisgarh

Answer options :

(1) (0 (d) (a), (b) 2) @ () @), (b)
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(2) Tt (i)
(b) @ (i) Fm
(c) ==y (i) RrEEqgw
d) < (iv) o

@) () @) @) ()
(4) (@) @v) @)

Match the following and choose the correct option from those given below :

River _ Water fall
(a) Sharavati (i) ~ Gokak
(b) Kaveri (ii) Chulia
(c) Ghatprabha (iii) Shivsamudram
(d) Chambal (iv) Girsappa
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(@) WIS AT SIS .
(b) @ T ST =g
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(1) T (a) SRR (2) wE (b) TR
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Tea is made from young leaves of the tea plant. Chinese were the earliest tea drinkers in the
world. The British first discovered the Assam tea in 1829 in the forests of North-East India.
“ The popular brands in the world are :

(a) Large leaved China tea

(b)  Small leaved Assam tea

Answer options :

(1) Only (a) is correct (2)  Only (b) is correct

(3) Both (a) and (b) are correct (4) Neither (a) nor (b) is correct

24. Yet® o oy foem &
(A) BrF s 10° 4 20° AT T A <
(B) 10° T 20° feiiea qreremian A wwm e e O

qaiet I
(1) < (A) T (B) TR A 9 (B) ® (A) ¥ BRI 4R e
(2) A% (A)F (B) TR ARE T (B) ¥ (A) 3 FRO AR

)
(3) B (A) T IR
(4) FF® (B) W L
Consider the following two statements :

(A) There are deserts between 10° and 20° latitudes in both the hemispheres
(B) Between 10° and 20° latitudes evaporation exceeds precipitation

Answer options :
(1) Both (A) and (B) are true and (B) is the reason for (A)

(2) Both (A) and (B) are true but (B) is not the reason for (A)
(3) Only (A) is true
(4) Only (B) is true
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Match the following :

Column A
(a) Gulf of Tonkin
(b) Parsian Gulf
(c) Gulf of Aquaba
(d) Gulf of Ob

@ () © @
4 )G @ 6
@ @ 6@ 0
@ @ O @ @
@ o G @ 0

(i)

(iid)

(iv

16

WY B

ehfesh ARETR

Tt AR

Colurﬁn B
Arctic Ocean
China Sea
Indian Ocean

Red sea
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SIS EER e R PRI
ToreAte P T
@ § o @
(b) g (i) ¥
(©) u‘rum‘ (iti) efrE™
(@) e (iv) aﬁaﬁ%ﬂ

@ 6 © @
JURNC ORI
(

] @ @ @) (@v) @
ORI
@ @ 6 0O G
Match the following and choose the correct option from those given below :
Shifting Cultivation State
(@) Jhum (i)  Chattisgarh
(b) Podu (i) Keral i}
(c) Ponam (iif) Assam
(d) Dahiya (iv) Andhra Pradesh
Answer options : 3
@ ® © @ - | |

@) @ (v) ()
(2) @) @) @Gv) @
@ @ 6

4) Gv) @) @ (i)
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27. WHSUH! B SHE! qd Tfr gfyem uew s ?

1) T «2) o (3) fmtm (4) TeowERl
Vghich of the following hills connect Eastern and Western Ghats ?
(1) Biligiri (2)  Nilgiri (3)  Nimgiri (4) Nallamala
28.  Sireel @l ;

 wua wWa B
(a) TR YR ()  HE AT ST
(b) EeEfeaT TR (i) oIfd g
() WoHTAT YN (iif) YA ST
(d) TS TER (iv) Tad I

@ () ( (@
© v G @ 0
@ @) @ 6 @
@ O @ ) @
@ @ O @ @
Match the following :

Column A Column B
(a) Hawaiian Type (i)  Erupt with great force
(b) Strombolian (i) Most violent
(c) Vulcanian (iii) Erupt quietly
(d) Peleean Type (iv) Erupt continuously

@ () (o (4

\/(){ (iv). (i)

(i) ()
@ @) @) 0 (@)
@ 6 @ ) ()
(4 @ () @) @)
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(@) I wfcada wewia o7 wﬁﬁma@ﬁﬁq@ﬁmw e,

(b) IwrEHcae eIl o : TS YAl St WY UsHeR AT o 341, |,
TR T T

(1) &I (a) TSR TR (2) FI® (b) TR TR

(3)  (a) T (b) AR TS TRA (@) (@) (b) TR SIS T
Consider the following two statements :

(a) Tropical Evergreen forests : Scattered distribution of one particﬁlar species of tree

T e

(b) Tropical Deciduous Forests : They have fewer species but they are found in close
proximity eg. Teak.

Now state whether :

(1)  Only (a) is true (2)  Only (b) is true
9/ Both (a) and (b) are true 4) Neither (a) nor (b) is true
30. TR SV fa9m gerter o7 ?

(a) < ARSI T AT e e ST oo - T7Te QA foed SOt Heqarst
T =gt

(b) EEIE! : HUSAA! S HegoTH] Th T FASD HL.

(c) e : Aoqaidie Tohid ek Yeleh e STedl Jerel AHUR,

i I

1) ®®@ - 2 OGFC /5( W (c) (4) TR TR

Which of the following statements is incorrect ?

(a) Chauth: Tax realised by Marathas from the areas outside their domain-equal to one
fourth of the revenue paid to the Mughal Empire.—

(b) Sardeshmukhi : Tax realised by the Marathas equal to one tenth of the land revenue.
(c) Misl : Political unit among the Rajputs, each loyal to its own particular leader.

Answer options :

(1) Only (a) .' (2) (b) and (c) (3) Only (c) (4) None
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J AT o FAX S ITYF ST 1 GLArS S HURE.
(1) e @) fooesw (3) W&Th (4) iR

Heterotrophic organisms, chiefly bacteria and fungi that breakdown the complex compounds
Jil of dead protoplasm and release simple usable substances for other organisms are :

(1) Autotrophs 42y Decomposers (3) Consumers  (4) Omnivorous

32. e WA A @ T i
Yy fom R (2) o e (@) R (4) =
The First National Park established in India was
(1)  Jim Corbett (2) Sanjay Gandhi (3) Gir (4) Kanha
33. T TSR W W 1 SR 2
(1) $eR-3e (2) Tt
(3) e (4) vifesn
Accumulation of mercury into human body leads to disease.
(1) Itai-itai (2) Methaemoglobinanemiq
(3) Minamata (4) Polio )
ST o SR ol e S o A A .
@ Sefmfw | '(2) Seerada
| (¢) W N AR e
] ‘ The continuous increase in concentration .of a to#icant at successive trophic levels in food
chain is : '
(1) Biodegradation X (2) Biomagnification‘

r’ (3) Bioaccumulation (4) ' Bioremediation
| Sl SRTATHISH W /SPACE FOR ROUGH WORK
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35, aﬁwarg@g@?éaﬁsﬂ?mw@ﬁ‘w

(1) FEF TR efeRe (2) TTEISH S SAERE
(@) e @ T e

The main gas responsible for ozone depletion s :

(1) Carbon dioxide (2) Nitrogen dioxide
(3) Methane __ (4), Chloro fluro carbon

36. 2000 W= TS SrepE 4R e e fER dwee 9 w0 AR, Gidieois)
IV Fuid g 3G Wie FHUAT AR ?

(1) 2015 (2) 2025 @) 2035 @ 2045

The long term objective of population policy 2000 is to achieve stable population. During
which of the following years this objective is targetted to be achieved ?

(1) 2015 (2) 2025 (3) 2035 (4) 2045

THETTE iRl (el widt oeq oe et A vt faer,

(3) o, ToHE, WiEpfE __ ﬁ;mﬁa’rwﬁ P )5
___Land reforms-promote triple revolutipn. Choose the correct option from the following : \\

(1)  Cultural, Political, Technological (2) . Political, Social, Commercial -

3} Economic Political?Cultu'ral-"w (4) None of these
(8)  Bconomic, Political/Cultural P (4)

.
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22 B
g WY o e Hed s ?
(1) 7@ 7ed H* ions THased
(2) &Y H* ions FigT
(3) Ca* &l Na* ions &A= fa"{aaqa'
(4) C"ions WY hlg
Kidneys are helping to maintain pH balance ny which of the folléwing ?
(1) Adding hydrogen ions to filtrate |
(2) -Removal of hydrogen ions from blood

(3) Dissolving calcium and sodium ions in blood

(4) Removing carbonate ions from blood

2011 =1 STTETHI YRAE Rl TRt Soree 10 Tamen ST o 2
1 52 (2) 53 G) 54 (&) 55

According to 2011 census how many cities in India have more than 1 million population ?

(1) 52 (2) 53 @) 54 (&) 55
SFTEHIME] I et ST JHIOG STeesd 7 . e

1) e o o) e R
(3) ) ReteE E

In plants, which ‘enzyme is found in largest qua'ntity“ ?_

(1) B galactosidasé o (2)‘ RuBP '..cafboxylvase

(3)  Enterokinase . (4) Heterokinase |

FoeAT HTATAIS WA /SPACE FOR ROUGH WORK
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5‘; 2011 =1 SHTUHTER 2001 @ 2011 R S, eial S 916 Wiotoush! e g ?

(1) 537 %3 655 % | (2) 541% T 67.2 %

3) 523%7d 644% (4) 553 % 9632 %

As per the 2011 census what was the rate of improvement in female literacy during
2001 to 2011 ?

: (1) 537 % to 655 % (2) 541% to 67.2 %
(3) 523 % to 64.4 % | () 553 % to 632 %

>

BN N

@ mmwwwwmmﬁ@mvwmm

—

(1) SSHfom, ¥ 9T SN, TA, {H, AHVERR

(2) _@u SROTITT, R, &, SRS
(3) &, T, e, fyvar i, wresd

(4) T I e, TR I, IO TR, @y, ey

What are the core values of development as described by Amartya Sen and Goulet D ?
Choose the correct option given below : :

(1)  Sustenance, self esteem, freedom, capabilites, entitlement.

(3) Food, clothing, shelter, drinking water, sanitation

4

).

2) Health, nutrition, education, capabilities, entitlement
)
)

Increase in national income, per capita income, basic needs, freedom, education

.:;-_43. 2011541 AT Ferehier STRaTeI 109 TR SgaTar! et Feuishret S T Hol. 71 AR
| A e Tehelt AT Proheie SgaiT SR ST 318 ? |
a 172 @ s @ Vi w15 |

Human development report of 2011, presented Multidimensional Poverty Index (MPT)

estimates of 109 Counmportion of population according to this report, in these
countries experience multidimensional poverty?

1 1/2 @ /3 - (3) 1/4 @) 1/5

HEeT SHTATETS! ST /SPACE FOR ROUGH WORK -

P.T.O.




GO3 | 24

44, STTFETEEATH W w1 TR B 2
(1) ®ah, +Hlam (CO,+CO) (2) €3, + TS (CO,+NO)
(3) AL, + AL, (CO,+0s) @) €Lel, + T, (CO,+H,0)
The end product of aerobic respiration is :
(1) CO,+CO (2) CO,+NO

(3) CO,+0, (4) CO,+H,0

45. WO AT | HedH Qe Wis!’ ST gafd oe o vat el
(1) Owaer 9 i geHreHs feEsm,
(2) DHEE A A GhEHeAE FrE
(3) OEwEeE a v fawm R
(4) HUES TG MM FTAEHA
Choose from the following options what the “Malthusian Population Trap” is related to :
} _ (1)  Population growth and positive che;lfs
If (2) Population grow'th and preventive checks
(3). Population growth and developrent

(4) Population growth and fertility

THEAT HIAETS ST /SPACE FOR ROUGH WORK
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46. fofes FH, FSRIH, ITE T, T AR MG Fald HISH HE-H SAFNHRT TH TR HRO 3
THE! FACH ARG AAH SUM 90T oMed.  fafow Kot aeae Ygio b fagriiet S
TSN 2T ?

(A) e e fafesi Folen ' K o TRy feome'’ oo s,

(B) 3T W< WA HRU A8 Wehel-[-TR ot Yo ForasHr!

(1) Ha (A) (2) %aas(B)
(3} (A) 3 (B) A (4) (A)d (B) T T
/

Silicon Valley, California, United States is one of the greatest science parks in the world
today as it contains hundreds of hightech information technology industries. Which of the
following two statements about the Sillicon Valley is correct ?

(A) Silicon Valley was once called the “Valley of Heart's Delight”.

(B) It was so called because hundreds and thousands of varieties of flowers bloomed

therein.
(1) Only (A) (2)  Only (B)
(3) Both (A) and (B) (4) Neither (A) nor (B)

3]

47. IITERIUHT RIS THe Haig v JefitE gHeAiiet Tw R, gEn 3,00,006 BT
WWW;mW.m@,wmt@mamwm?

1) 1970 2) 1960 () 1950% (4 1940 X

R

e , ] )
One of the worst natural disasters of the World was the cyclone struck in Bangladesh. As

many as 3,00,000 people, lost their lives, it is said. When did the disaster struck Bangladesh,
then East Pakistan ?

(1) 1970 @) 1960 © @) 1950 - (4) 1940

el HAMIGE SR /SPACE FOR ROUGH WORK
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48. S 2012 7o vverd ferehrarara = e +20 9 fevelt ereferereen’ gredrs wHels 2. wiatent
HIVTET ST JEishTd  fevean gy’ =i 9 Wl et ?

(1) e ¥, €l wiew, Heque
) b derd. T vy, 3. aREieR
(3) oM. FE, Tag, A4, T, BOH

(4) g e, 9 %m vgy

The June 2012, Rio +20 conference on sustainable development advocated the “green
economy” model. In whose book the term ‘green economy’ was coined ?

(1) Amartya Sen, D. Friedman, Samuelsan
(2) D. Pearce, A. Markandya, E.Barbier .
(3) L Quadeer, W. Berry, N. Hatekar /
(4) D. Greenberg, ] Taylor, Schmidth
49. fesh v A E el
(1)  YERTIT=AT STTET ST ORI ICURCEHE
(3)  TehTITET AU HHI (4) TSRS SR S 92

The velocity of radio waves is

(1)  Greater than velocity of light (2)  As that of velocity of light ¢
(3)  Less than velocity of light (4) Exactly double the velocity of light
) —

50. @@aﬁﬁwﬁaﬁ%wﬁaw@mﬁﬁﬁmmwmwwwm;
Sregl T Felteron Frar i e Wftiielt T el 2

(1) 1973 (2) 1971 3) 1972 (4) 1974

Which of the following is considered as a land mark year in the history of legislative action in
India for environment concerns during which National Committee for Environment Planning
and Co-ordination (NCEPC) was setup ? .

@ 1973 @) 1971 6 1972 @ 197

HTAT HIWES T /SPACE FOR ROUGH WORK
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51. sifaesr fria fordt sTwiieias ved stmeesdt ?

1 2 2) 3 (3) 4 4) 1
Oxygen occurs in nature in isotopic forms.
@ 2 2) 3 @) 4 (4) 1

(2) PRI SR ST Yo W,

e ———————.

(3) I YUl BIUIRAT STYCTEY e,

(4) RIS Rl BIOTRAT Jemeel S,
Raman effect is due to : |

(1) Inelastic collision of photon with e~
(2)  Elastic collision of photon with e~

(3) Inelastic collision of photon with molecule .

(4) Elastic collision of photon with molecule

el HTHIATSN SR /SPACE FOR ROUGH WORK




GO3 - 8 | B

53.

mwﬁmmf&ﬁawﬁﬁﬁmﬁﬂwwmﬁ W 1 TR T FON 5@
TROTH TS,

(a) Tt wwiaw el e HIB T@
(b) Vel ETEH feo foran UM Teeltd o
(c) wmiTr faweg i o Fom A
(d) Wﬁﬁ%wﬁwﬁqﬁrﬁmaﬁs

ota Fd B W ama?
(1) (a) S (b) @ (@) () (© ()
(3) () () () @) (a), (5) SfT ()

If a heavy load is pulled along a smooth horizontal surface, then the farce acting on the load
may be :

Tf)—the apphed force in the horizontal direction.

) The force of gravity acting on the load vertically downwards.
(.e)/ The force of friction acting in the horizontal direction opposite the motlon
ﬁ/ Reaction force due to the horizontal surface.
Which of the above statements are true ?

(1) (@) and (b) ) (@) (b) () and )
(3) (b), (@) and (d) (@ (@) (5 and ()

54. WO@UH! A A e w1
() AR oI TRTTaeT €Ty YETei ST ST,
@Wﬂ%%@%wﬁmx o> | ¢
() @R e Twl . : f |
(d) e 7a veetie ar Tt FH R s, X
D) (@) (©) 0 (d) TR {2) (@) ST (b) e
<m©m@m.'.1@yWﬁwm

Choose cotrect statements from the fdll()wing R
(a) Sound waves travel faster in solids than in gases
(b) Sound waves travel fastest through vacuum -

(c) Sound waves are longitudinal waves

(d) Sound waves travel slower in gases than in hqulds .
(1) (@) (©) and (d) only () (@) and (b) only
() (9 and (d) only - (4)  (b) and (d) only.

FroedT HIUMEIS SR /SPACE FOR ROUGH WORK
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55. aifd @Y EIeNa vgia (2.45 GHz frea=dt) wmEe ®m 3rgd ?

2 e e
(a) TIEEE SETe TE (b) wu‘wﬁaﬂ@wﬁuﬂmw%‘rﬁ
(c) SrTaqUie ofifaes o5 wedl (d)  Tsiqe g

(1) (a) o) &) o (@), (b) #A ()

(3) (b), (¢) I (d) 4) (o) e (d)

What are the advantages of Microwave oven having microwave frequency of 2.45 GHz ?

—t.

a) There are no flames

(

(b) Destruction of nutrients is less

(c) There is a physical change in foods
(

d) Sterilization effected

56. WOCH FETA AT FIO A FiM 2
(@) wEAgEESE (b)) TEES (o) Jouw  (d) TR (e) aqam?:
(1) "wwa@ara (2)  (b), () (d) 3) @, () (0 (4) (a), (b), (d)

The allotropes of carbon are :

(a) Carbon halides (b) Diamond (c) Fullerenes (d) Graphite (e) Chaoite

o

(1)  All above @ (b) @ ) @) @ o) (© @ (@ ®) )
1) Wi @) 3 (3) YRS (4) HATRTH

Spot the odd one out ?

(1) Humerus (2) Femur (3) Radius (4) Scapula

. HRET HTHTETR WO /SPACE FOR ROUGH WORK
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58. IO wrofl I¥ HRTE YW, WU ST = i 2
1) eI - 2) W
(@) = @ e
Which animal tissue synthesizes, stores and metabolizes fat ?
(1) Epithelial tissue (2) Adipose tissue

(3) Connective tissue (4) Muscle tissue

59, IAETAAT fEATIE RV STl AR GE Hol

(1) 38 (2) e s g
(3) Y fofrm ) Ty
Wﬂich Botanist introduced the ‘Binomial’ nomenclature to the plants ?
(1) Blessey (2) Bentham and Hooker
(3) Carolus Linnaeus \ (4) Theophrastus
60. Tormy] (BE) 3T,
(1) R S @ i

(3) gieE SE (4) ST Sfa
Viruses are :
(1)  Unicellular Organisms (2) Cellular without cell wall

(3) Multicellular Ofganisms)( %4)  Non-cellular Organisms

HoAT WIS ST /SPACE FOR ROUGH WORK
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61. IR = FI&T HIV Hld ?

(1) SawEd + (2) T + SRS

(3) oS O U + WA T AR (4)  Tiedl WK Rl + I

Urea is transported by :

(1) Plasma + Blood (2) Blood + O,
(3) RBC+ CO, o - (4) WBC + Saliva
—

62. POIHIC STATAH HSH I 7
(1) Tee anfor uiice (2) oo
(3) AT T ST (4) T g ST 4o
Which of the following are essential whorls of thellowers ?
(1) Sepal and Tepal (2) Sepal and Petal
(3) Androecium and Gynoecium (4) Calyx and Stamens

63. THTIHR F3o a9M T 3R ?
(a) éfﬁﬂ—@aﬁvﬁ%wﬁﬁ
ORI EETF ERUEIS
(1) <R E | (2) (a) ¥, (b) STHA
@) (a) ¥THI, (5) B (4) T TE

Which of the following statements is true ?

(a) Indigo - blue is a natural dye.

(b) Alizerin is a synthetic dye.

(1) Both true 2) (a) true, (b) false
(3) () false, (b) true ' (4) Both false

el TIWTETS! ST /SPACE FOR ROUGH WORK
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64. wfmi=n ffHfda Foea RNA 2 7edr %1 o1e ?
(1) mRNA (2) tRNA (3) iRNA (4) rRNA
In protein synthesis, wlich RNA plays an improtant role ?

(1) mRNA (2) tRNA (8) iRNA (4) rRNA

65. ot MHidfdt & Tiiois! FIu TEHIRA AT 3T 7

(1) CaO-Si0, - ALO; (2) CaO- ALO,-MgO A
(3) SO,- ALO, - AICL, T3 (4) CaO-Si0, - AlCl,

The composition of cement is :
(1) Ca0 - SiOo, - ALO,  (2) CaO- ALO,;-MgO

(3) SiO, - AlO, - ACL (4) CaO-SiO, - AlCL,

66. THFUS T MUAERER AT B G R A FHIHOG FIS fH90 7R 8 2
(1) oISt enfor et | (2) VRN anf e
®) o o (@) e st
Upon hydrolisis, sucrose yiel-d; equimolar mixture of : ‘- |

(1) Glucose and ribose (2) Fructose and ribose

(3) Glucose and fructose - (4) Lactose and maltose

TN HITETS ST /SPACE FOR ROUGH WORK



B

33 GO3

67. T feerliantu wed o T e TR .

(a)
(c)
1)

- | ()

AT (b) TSR
RS HEIYH

wWwEEaE () (a), () (3)

The fundamental requirements for nitrogen fixation are :

a

“
1

(
(c
(
3

)
)
)
)

Nitrogenase & (b)  Ferredoxin
ATP (d) Aerobic conditions
Al thie above @ @ o)
@), (), (@) @ @ © Q@

68. W faumiE T@l ISdlel.

"1 G Wik Yo 398 g UHHE TeeeAT SR Adie aT9U de) iote Arieid dd

T Tl fesfamares! sf-teaiee = o

31 feora SavamTe! ST=IHEbIs1eTE 3 T el L.
U1 9 99 QU1 qeIf= AR shed STl G i,
3T Yihdd IHE a1 AT HT,

e faum o oma 2) (), (b), () ¥

(a) 37fT (d) W (4) oo faum e ITRa

Which of the following statements are true ? The guidelines for “the use of chemical additives
in food processing” by Food Protection Committee in publication 398 include :

(a) Use of antioxidants to maintain nutritional value.
(b)  Use of anti microbial agents and inert gases for food stability.
(c)  Use of colouring and flavouring agents to enhance the attractiveness.
(d) Use of bufférs in food processing. _ | |
?1\) All are trug : 2) (a), (b), (c) are true’
(3) (a)and (d) are ture (4) All are false

"

ool HIMEE! ST /SPACE FOR ROUGH WORK
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69. EHAT ALl Y 71 A5 Focal ST e o el S ?

(1) I (2) HERHH (3) TEMHA (4) grEH
In DNA, thymine always pairs with
(1) Adenine (2) Cytosine (3) Guanine - - (4) Thymine
70. @ Ry A
(1) i @ == (3) 4) @
What is not a mixture ? : |
by Water (2) Air (3) Soail (4) Chalk

71, TEAF YRAK WO IO HEASIR TG STOTE T Frertore, A1fdes rarect = dvaren
T afq gyt ared ?
(1) &7 g $E (2) UdSHI Fo5 AT
) FH HHIS ST HIRON H (4) SR HTEET
Which of the following statutory provisions will you view as the most effective ins’rrumeﬁt of
rural socio-economic disfributive justice in the independent India ?

(1)  Forest Rights Act (2) Agricultural Tenancy Act
(3) Agricultural Land Ceiling Act  (4) Debt Relief Act

72,  FTE AGfR R e acids (STF3) @i SidEE food 3R

et el e |

(a) ferm- offafes offve (b) - wrafew offas £
() To=- i sifae (d) - stwifos ifds

(o) iz gy (o) -ofew dfwe () T - Wt oifas

® fresren €@ - Aoigw o _(h) oo €U - Aewi s

1) (© 2) () Q) (® 4) &
Some naturally occurring acids are given below with their sources.

Indentify the incorrect pair: = :

(a). Vinegar - Acetic acid .. b) Oranges - Citric acid
(c) Tamarind - Tartaric acid ~ (d) Tomatoes - Oxalic acid

' (e) Sour milk (curds) - Lactic acid  (f) . Lemons - Citric acids

" (g)  Ant sting - Methanoic acid ~(h)  Nettle sting - Sulphuric acid
1)

(©) @@ @ (@ @) (b

< TS ST /SPACE FOR ROUGH WORK
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73. WO faum 9@

(a) i T 7 Tt T T eﬂﬂé@ffaﬁaaﬁ'éﬁwm forfifa s ST

(b) ¥ TR FcaE Guedie Yofad fatash samm 8.

FhoE! Fvi/df faum/3 aEw /a2
1) wHE) @ (@) e () et T
@) @etEEE (@) W ()

Consider the following statements :

(a) Bill pending in the Rajya Sabha which has not been passed by the Lok Sabha shall
' lapse on dissolution of the Lok Sabha.

(b) A Bill pending in Parliament shall lapse by reason of Prorogation of the houses. }{
Which of the statement/s given above is/are correct ?
(1) Only (a) (2) Neither (a) nor (b)

() Both@and(®) (4 Only()

1y 423%)( ) 528 (3 6za°r 4) 7ot

Which one of the following amendments to the Constitution of India’ sought to curb political
defections ? oo - -

(1) 4ond (2) . 52nd,_i | | (3) 62nd_ - _ (4) . 70th.

el HTHTIE! A /SPACE FOR ROUGH WORK.
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75.  YEI® & faurt=n foem 3 :
(a) o Qe g sifae fef g @ TeAfHRdY Aed w. ma'rrraq‘maaf%
g frator B S die GErel i 9 A1V SR B,
(b) HAfE TEgiEEe (fireeh a1t Wrifiran) =1 AT ST e He S W T aFe e o,
IV ST qUIY S 3ATE ?
(1) F9 () (2) @ (b)
(3) (a)d(b) I (4) (a) ¥ (b) TR TR
Consider the following two statements : ,
(@)  Ourstomach produces hydrochloric acid. It helps in digestion of food. During indigestion
the stomach produces too much acid causing pain and irritation.
(b) Magnesium hydroxide (milk of magnesia) is often used in the above condition which is
an analgesic ?
Which is a completely correct statement ?
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
76. TR AHATHER AT STeael T Heeai= T0vE Soes! 9as SHee aid &

(a) OlwEdd FeAY (b) TEIUIAR YA

() OFEHide fadHt vamd (d) Tw=wdde fode vard

(e) Hawe™ : (f) e TEwEs

e g2 e

1) (@) © () () @) (@), ©&mE - ¥
() (@), () (d) T (e) A (@) (), () (d), (e) ST (f)

~The Chairman and Members of the National Human Rights Commission are appoinfed on

‘(

the recommendations of a committee consisting of :
(a) Speaker of the Lok Sabha ' ‘
(b) Deputy Chairman of the Rajya Sabha

(c) Leader of the Opposition in the Lok Sabha
(d) Leader of the Opposition in the Rajya Sabha
(e) Prime Minister

f)  Union Home Minister

Select the correct answer from the codes given below :

1) (@) (c) (¢) and (f) (2) (@) (c) and (e)

(
(3) (@) (), (d) and (e) 4) (@, (b), () (d), () and ()

AT HIAHEIE O /SPACE FOR ROUGH WORK
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77. WS TR ke Tod i sheamen fhar qul Tearen TS {Sedren 91 HIoThy wH o7 ?

() TTEE (b) g w2 (c) e (d) e
ATt e

0 @) b © T @) @ @) ) @ A

B Bo@@FO @ 6@

——

What is the correct chronological order in which the following states of the Indian Union
were created or granted full statehood ?

(a) Nagaland (b) Andhra Pradesh  (c) Haryana (d) Maharashtra
Select the correct answer using the codes given below :

(1) (a), (b), (c) and (d) (2) (@), (b), (d) and (c)

3) (b, (@), (d) and (c) (4) (b), (d), (@) and (c)

78. e A faumRat FR @ o

(a) T Wi JHAHTHRUNY AR Afa PR M6 TR wFel arRel Sl df g sk

(b)  ST¥I HIET NG FIHRISTG T T ATA Sl q= T, FT01 9 HEIE SR A9,

T HieT ¥ Wifead gRgeT Hiaie 16,
£ (@) @ Q)
(3) (a)d (b) T (4) (a)F (b) I & &

Which of the following two statements is correct ?

(a) The soda commonly used in the kitchen for making tasty crispy pokodas is baking
soda. The baking soda is a sodium carbonate.

(b) Washing soda is usually used as a cleaning agent for domestic purposes and in glass,
soap, paper industries. The washing soda is sodium hydrogen carbonate.

(1) Only (a) (2) Only (b
(3) Both (a) and (b) (4) Neither (a) nor (b)

FERAT KA ST /SPACE FOR ROUGH WORK
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79. WWWWWWWWWWWW
T TFeS IS Al IV 2
(1) <SNE s
%@WWHWWWW
(3) WWWW@
(4) w9

Which of the following non-violent movements led by Mahatma Gandhi agalnst the British

............ 1.1 ‘
l\dj, you wola rank as the most cffective to mobilize the masses ?

(1)  Quit India Movement -

(2) Swadesi use and Boycott of foreign goods Movement
(3)  Civil Disobedience Movement

(4) Fasting

80. WIAGUh! FHIVIAT WEAT TRUTH FUH HEeH 24 Sl ¥l Goil el €A hdl ?

(1) TesTg@ee ) Tl firew o

(3) HEHE YR T 4) vl TR Tl

Which one of the following cases prompted the Parliament to enact 24th Constitutional
Amendment Act ? e

(1) Golaknath case . . (2)  Minerva Mills case .

(3) Kesavananda Bharati c'ase. ‘ (4) Shankari Prasad case

'81. aﬁwmzzwﬁmﬁﬁmwmmwmmmwwm
M) 2¥E @ e () 4F@ @) eww

Under Article 22 of the Constitution of India, with the exception of certain provisions stated

there in, what is the max1mum perlod for detention of a person under preventive
detention ? o

(1) 2months ~ (2) 3months ~ (3) 4months (&) & months

THoedT ShIATETS! ST /SPACE FOR ROUGH WORK
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82. e =TT 1955 faia, GIEATeR! hivea TGN TER! ] TRarn FRs o Whd 2
() ot AR e (b) RN () S W EEn

(d) Ul (¢). eoft &R

G A T fee

] (), (0), (d) 0 (e) @ (@), () () o1 (@)
@) (@ () @ =) @ (@) b))

Under the Citizenship Act 1955, by which of the following ways can a person become a
citizen of India ?

‘&) By incorporation of territory  \_(by” By descent Yc)—By birth

(d) By nationalisation (€).~By registration
Select the correct answer using the codes given below :

(1) (b), (), (d) and (e) (2) (@), () () and (d)
(3) (@) (c) (d) and (e) \ AT (@), (), (c) and (¢)

83. e i, fovots o qerdsht @ orm st ot wed qEte @ faum wa
(@) ST, F T Frend |
(b) mﬁﬁwﬂmwmmmﬂﬁwmﬁmm%@
iy
(1) HIB (a) I - (2) *HFD (b) TR
(3) (2)F (b) I Faum o A (@) T (b) AR T

Con51der the following two statements about Arvind Kejriwal, the new chief Mlmster of
Delhl and the leader of Aam Aadrru Party

(@) Heis an alumni of IIT Kanpur. |

(b) In the recent elections held in Delhi his party won 29 of the 70 seats.

Options :
(1) Only (a) is right (2) Only (b) is right
(3) Both (a) and (b) are right (4) Neither (a) nor (b) is right

HTHT HIHETE WWT /SPACE FOR ROUGH WORK

P.T.O.



GO3 40 B

84. TIRSSTI a1 HIeeh ver=l IAREH 9 STIRT HIACYR AT SO I 0 ?
(1) wafer @) - sew (3) faft 4) w9
The first country to legalize production and trade of marijuana is :

(1) Cambodia (2) Srilanka (3) Syria (4 Uruguay E

TH= o Rrer T o )

Qo
9S24

301 it Gt e CuGh

(a) aﬁmwmﬁmﬁﬁmmwﬁﬁwmﬁwqm@am'ﬁ
T B TR,

(b)  SATFR{TETH & FE TGN WUAHEd HIE THION SHTrasgsR o fermatifemsm & fago

(c) WAL Shefes T QT TQA AUd B0l T ey A WA ARSI T o9 R

(1) (@9 (b) 2) ()9 3) (@ () (4) (a), (b) T (c)
Which of the following statements are correct ?

(a) So as to prevent oxygenated blood from mixing with deoxygenated blood birds and
mammals have four chambered hearts.

- (b) Amphibians and some reptiles tolerate some mixing of oxygenated and deoxygenated
' ‘blood and therefore have three chambered hearts.

(c)  Fishes have only two chambered hearts as here blood is pumped to gills to get oxygenated
~which then passes to the rest of the body.

(1) (a) and (b) (2) (b)and (c) (3) (a) and (c) (4)  (a), (b) and (c)

Tl THTATETS! W /SPACE FOR ROUGH WORK
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86. WWWWW%HWWW:

(a) Ww‘mw’wwomwmmﬁ.w

(b) 1947 wed Afkere Wit e sfeeaye R TR SR

() o oEeHs YA A |
(d) 1991 we foen arfurmm feenfaeren <= Svam era.

FABYST HIURT/ RO TE SR 3T 2
(1) ™% (a) 3 (c) (2) e (b) M ()
(3) T (c) M1 (d) (4) WH (@), () F(d)

Consider the foliowing statements about the Forest Research Institute (India).
(@) Tt was founded as the "British Imperial Forest School” in 1906.

(b) 1t was reestablished as the Imperial Forest Research Institute in 1947.
(c) It is located in Dehradun (Uttarakhand). ‘

(d) Tt was declared as deemed university in 1991.

Which of the above statements is/are correct ? _

(1) (a) and (c) only (2) (b) and (c) only

(3) (¢) and (d) only (4) (a), (c) and (d) only

87. UG T T NG AT ATSAT TATEA 65 1 AN (e, ARTHRTSA] TR T W 9,
M YA F Faere!, T4, 3HE §H, 99 a5Y, S, T9R faauen 9 w16 $3. [ 950 B0
< faemien foer &,

(@) ‘'St S A @ wrTe wiearE e See Jeda.
(b) AT TEATTHIHT FHT o A .

iy | | _
(1) &3 (a) TR | (2) F (b) R
37 (a) T (b) IE! Fum TR @) (a) 9 (b) T Faum =

The versatile actor Farooq Sheikh passed away -recently at the age of 65. He died of heart
attack. He acted well in Shatranj Ke Khilari, Noorie, Umrao Jaan, Chasme Baddoor, Katha,
Bazaar. Consider the following two statements about him.

(@) In“Ji Mantriji” he performed the role of a Secretary to the Government wonderfully

well. _
(b) He suffered the heart attack at Dubai.
Options : S
(1) Only (a) is right ' (2) Only.(b)is right _
(3) Both (a) and (b) are right (4)  Neither (a) nor (b) is right

A
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88.

AR SeTeATe Wi Wtetet Hivl Teee (L S o) TIE o) T6E Aed a6

W ?
(1) 9GS IH FRSd
(3) wieterE= fovi =marey

42

) Wﬁaa‘fa AT
(4) O I =TT '

B

Which one of the following convicted R]D (Rashatriya Janata Dal) Chief Lalu Prasad Yadav

in a fodder scam ?

A1) Jharkhand High Court

(3) Special CBI Court

(2) Supreme Court of India
(4) Patna High Court

89. Wi SToIcH! qERERYTd Fa “A” 9 = “B” A€ SIS Jooal.

o

gHt-A

( =afer )

T T

o STeh

(c) 3TF HoH

(d) wforR TreETe (U9)
(@ (b) () (d)

) @ @) () (@)

@) (v) (@) @) ()

@) @) @) @) ()

@ @) @) @) ()

Match the list “A” with list “B” with reference to Sahitya Academy Awards :

git-B
([T T )
@ 2011
i) 2009
() 2010
@iv) 2008

List - A List - B
(Person) (Award year)
a) Shyam Manohar (i 2011
)) ~ Vasant Dahake (i) 2009
c) Ashok Kelkar (iii) 2010
d) Manik Godghate (iv) 2008
@ (b) (o) (d)
O 0 @ @) @
@ ) @ @) 6
G) @) O @
(4)

@ @ G W)

el HIHHETE! ST /SPACE FOR ROUGH WORK



B 43 GO3
90. TR (Mars) SRR e el 2 st T w S R e et

P - \
(a) oTfEHI | (b) R
() =M (d) S
() FUf v Tie () o
(1) i, <, <, S, e, T e
(2) <, s sy, AT Wy usidl, diq, Wikd

—

(3) v, wrm, stk <1, T WY TS, 9)d

Give the correct chronological seqﬁence of the missions undertaken to Mars by the six countries
or agencies given below :

(@) America (b) Russia
(c) China (d) Japan
() European Space Agency  (f) Bharat

(1) America, Russia, China, Japan, Bharat, European Space Agency.

)

(2) Russia, America, Japan, European Space Agency, China, Bharat

(3) Russia, Japan, America, China, European Space Agency, Bharat.
)

(4) America, Russia, Japan, China, European Space Agency, Bharat.

91, 2011 1 SFVATHR SHIVTeelT AT AIehEeA] dere S S0 gl ?

(1) e @ Pga s (3) M@ SIS JH
Which state of India has negative population growth rate as per census 2011 ?

(1) Goa (2) Tripura

(3) Nagaland R ~ (4) Arunachal Pradesh

AT SIHTETS! WA /SPACE FOR ROUGH WORK
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92. STARIfeRY WRATe ST fefell reord TUATEll HeHIURUTA! ARETE HHT 376 ?
(1) esaed L) dewaem

(3) HfemA ) 1 e X

Within what period is the Government entitled to reply an unstarred question
generally ? '

(1) Within a week (2)  Within fifteen days
(3) Within a month (4) Within three months

93. WRG THRA 26 I 2013 s FHIUIAT SRR 56t A0 ?

(1) erieim () R X

(3) VwRe® 4) fa=mYy

Which drug has been banned by the Union Government on June 26, 2013 ?
(1) Analgin (2) Paracetamol

(3) Proctolol (4) Vicks

94, WIGUHT HIV <o TSI (TEEA) S Felfel FAT 3T1E ?
1) TR (3%) -~ . ®
(2) T FRE-SE () (TrE)
(3) (i) Srgea TH-Teig
(4) ST T AT 3 Wi gt () R
Which one of the following news agencies is the oldest in the world ?
(1) Reuters (England)
2 Agenée France - Presse (France) (AFP)
(3
(

)
)
) Deutsche Presse - Agentur (DPA)
4)

Telegraph Agency of the Soviet Union (TASS), Russia

TN THTHIS ST /SPACE FOR ROUGH WORK
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o g5, T RIORR Ao A B faere e

| () AV G WA TEFR TS wym FHiER I,

by ‘ugw W’%wﬁam‘aﬁﬂamm’mm.

e T R,/ e T

1) wH () Oy~ T (b)

() @IOIRRR @ (@7 )

Consider the following statements about ‘Jaymala Shiledar’.

(@) Born in Indore and obtained Degree of ‘Sangeet Alankar’ with First Rank.
(b) Honoured with 'Padma Bhushan’ and Sangeet Natak Academy award.
Which of the above statements is / are correct ?

(1) (aJonly @ Moy

(3) (@) and (5) both correct  (4) Neither (a) nor (b)

96, GO FH Tt TR AR 7

(a) WVWWWL/’“

) ﬁv@m@%ﬂwﬁq

(c) T - TR g AT

(d) - 3T TeedTs AR v

(1) (a)'m @ @ (b)W(C) @) R () () wH()

Which one of the following palrs is not correctly matched ?

Agm V - Intercontinental Range Missile.

Trishul - Supersonic Cruise Missile.

c¢) Shourya - Hypersonic Cruise Missile

d) Dhanush Short Range Missile. -

) @and(d) (@ (Band(  (3) Only () @ Only()

TGS ST /SPACE FOR ROUGH WORK
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97. RSl Ul AT SEA&T HIOHR HSUT 4 :

(a) ‘@ﬁw' (b) T

() TATLHS | _(dj [EERRSICIGIH
W @@ Q0 @ @ © 0 Q
6 66 @ © @ ®)© @ @

Arrange in chronological order the chairmen of Atomic Energy Commission of India ?

(a) Homi Bhabha (b) Raja Ramanna
(c) H.N. Sethna (d) Vikram Sarabhai
1) (@), (@), (o) (b) (2) (@) (c) (b), (d)
3) () @), (d) (9 (4)  (®), (0) (a), (d)

98. fIYMTRYR HHHE RV M T ?

/ ) @) T v e

@) W gy @) e, Rl b g

In the Legislative Aséerﬁbly the officiai Wofk is _cérrie& out in .x/\‘fhich language ?
(1) Marathi (2) Marathi or Hindi

(3) Marathi or English (4) Marafhi, Hmdl or English

ol HIATRTS W /SPACE FOR ROUGH WORK
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99. gt .1 = Al .01 7 oot wY T Wit oAy S ikl e W

A - 1 | awdt - 1
(e St wehed ) (WM gw)
(@) TZH @) 9564
(b) SR (i) 1400
() Tt femdt (fordt) (iii) 3300
(d) e T ) 6600

@ ® (© (@
V) @) @@ ) @)
2 @ @ @) Gv)
@) @) @) @) )

SO ) () () (i)

Match list-I with list-II and select the correct codes given below :

o

List-1 List-1I
(Planned power projects) (Capac1ty in MW)
(@) Chutka @) 9564
(b) Jaitapur (i) 1400
(c} Mithi Virdi (Viradi)' (iii) 3300
(d) Kovvada (iv) 6600
@ () (9 (d)
1 @ G @) 6
() @) @) @) ()
(@) ) (v) @ @)
(4) (v) @) @) (i) ®
AN
100. Hahaa?awq %maw memmammw
[T U ST ?
\/(,H/ 1952, 67 (2) 1954, 41 (3) 1969, 45 4y 1972, 41

In which year ‘Bharat Ratna’, the In'dia’s»‘highest civilian award was insfitut_ed and how
many persons have beeen honoured with this award so far ?
(1) 1952, 67 - (2) 1954, 41 _ _(-3)_ : 1969, 45 S (4) 1972, 41

FHoeAl HTWEIE SN /SPACE FOR ROUGH WORK

P.T.O.



GO3

48 B

T —'(qsa1 T&T T3.... )

8) WETaued fafeq Hoea fafre Srfe = M (T6 J%) &6, WAgRasefaied ITaEss ot
T FIEER H W Hodr™d o A FOGT LI FS AR, 30 AFD TS 9 ATTIR. IHIIRET
AR TR hoed * wraied Ao RuwRE Siisy s AfufRm-g2"" Ao RISTER FeE
AW 440 9 AW K FHSG Uoh Juied HREEE 0y/fHa T UF TR SHa e g
T RS .

(9) TR FIIHEE R fafed FOB do GUEMM IHGIN@ & TR e ale TaTHharsm]

U WU EE SR, AT UHRIT HTETe SruAret

AT ST IR 9RT-1

THAYHTHS 7 FTE@T e 0T JTayas 3T

. @, 201.

q. %. 201.

THAT U9
ﬁﬁwwwmaﬁvﬁw ¥a! el ?
(1) T TEE 2) S, TR
@) T UHEEd @)  TdTEES e
W T ARG IW Y (3) TN TR T o TR, W@ W R W)U (3) e, et
GISIGYHTS I F. 201WWW$“®"%H§ET{\WWWWW
HITF TR

ONON - N0,

I TZAH T TYRehdio T Iel qHa STGEHIS 8 TR P ‘gg{fa@w
MWWWWWWWWWW grra:ﬁm
ek STl VY Sl aTude, ﬁﬁwarws‘ﬁﬁwmﬁ -

-
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